SR9350 - KR9350

MONORACK SPECIFICO - SPECIFIC MONORACK - MONORACK SPECIFIQUE - SPEZIFISCHES MONORACK - MONORACK ESPECIFICO - MONORACK ESPECIFICA

X-CAPE 649 (2021)

MOTO MORIN

Descrizione/Description

Caratteristiche/Features

Codice/Code

Quantita/Quantity

Supporto superiore - Support higher - Support supérieur
Halterung hdher - Soporte superior - Apoio superior

GL5032v

Supporto inferiore - Lower support - Support inférieur
Soporte inferior - Untere Halterung - Suporte inferior

GNB2858V

2 (Right; Left

Vite - Screw
Vis - Schraube
Tornillo — Parafuso

M8x75 TBEI

875TBEI

Vite - Screw
Vis - Schraube
Tornillo — Parafuso

MB8x60 TSP

860TSP

Vite - Screw
Vis - Schraube
Tornillo — Parafuso

M8x30 TBEIFH

830TBEIFH

Vite - Screw
Vis - Schraube
Tornillo — Parafuso

M8x20 TSP

820TSP

Rondella spaccata - Split washer
Scheibe - Rondelle fendue
Arandela seccionada - Arruela Dentada

Foro 88mm

1060

Rondella Inox - Stainless Steel Washer
Rondelle Inox -Rostfreie Unterlegscheibe Aus Stahl
Arandela Inox - Arruela Lisa De Aco Inox

Foro 88mm / Esterno 814mm
$p.0.3mm

805RONX

Distanziale - Spacer
Entretoise - Distanzstueck
Distanciador — Espacador

014x30 Foro 10mm

C14L30F10FET

10

Distanziale - Spacer
Entretoise - Distanzstueck
Distanciador — Espacador

020x4 Foro 10,5mm

C20L4F10,5T

n

Dado - Bolt - Ecrou
Mutter - Tuerca — Porca

Dado Autobloccante Flangiato M8
(H.9.5mm)

8DADIFN

12

Tappo - Cap
Fiche - Stecker
Enchufe — Capa

13C0P

13

Componenti Originali - Original Parts
Parties Originales - Original Bauteile
Componentes Originales - Componentes Originais

14

Particolari Inclusi Nel Kit Viteria Della Piastra
Components Included In The Fitting Kit Of The Plate
Pieces Inclues Dans Le Kit De Vis De La Platine
Die Einzelnen Teile Sind Bei Montagekit Der Platte Enthalten
Despieces Incluidos En EL Kit De Anclajes De La Parrilla
Explodiu Incluido No Kit As Ancoras Da Grelha

MONTAGGIO - MOUNTING IN
ON ANLE

=
O
=
r—
=
=




SR9350 - KR9350

MONORACK SPECIFICO - SPECIFIC MONORACK - MONORACK SPECIFIQUE - SPEZIFISCHES MONORACK - MONORACK ESPECIFICO - MONORACK ESPECIFICA

MOTO MORINI X-CAPE 649 (2021)

((((((((((((((((((@
(((((((((((((((((@

(@

Q@
( ({

M8x30mm M8x20mm

(LCCLCCCCCCCECRELEERCREl

6L5032V MBx75mm

GNB2858V

- IR
efoleeto | | | LISTeTlamaly T
M8

Hole 88mm Hole B8mm/ Hole 810mm/ Hole 810,5mm/ 13CoP
External 814mm/ External 814mm/ External 820mm/
D.0.3mm H.30mm H.4mm

@%@ 4mm / 5mm / 6mm

13mm

| CHECK THE SCREW LENGTH HERE ! mm|

=




SR9350 - KR9350

MONORACK SPECIFICO - SPECIFIC MONORACK - MONORACK SPECIFIQUE - SPEZIFISCHES MONORACK - MONORACK ESPECIFICO - MONORACK ESPECIFICA

MOTO MORINI X-CAPE 649 (2021)

("REMOVE ) ®|




SR9350 - KR9350

MONORACK SPECIFICO - SPECIFIC MONORACK - MONORACK SPECIFIQUE - SPEZIFISCHES MONORACK - MONORACK ESPECIFICO - MONORACK ESPECIFICA

MOTO MORINI X-CAPE 649 (2021)

(" MGMIIMSMPLATE )

20

o
® ®

8

MONTAGGIO - MOUNTING INSTR 0
NS DE MONTAGE - BAUANLEITUN
A R i




